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- «KLusuusSutuvh EunuvAUhuU3h 9QUrGUSUUL PULLY

AU LEShLULUL CLUGMNME3NML

{wugh - Kwjwumnwbh Lwlpuybtnnipinil, 0002, p. Gplawb, Udhpjw6 23/1
EiyunpnGujhl hwugh - bank@aeb.am

Uuyp - www.aeb.am
<tnwfunu - (37410)8686, (37410)510-910 (9104)
buwipu - (37410)53-89-04

- wjwlnwjhG qppnyyyp YnpgGtint niypnid - 1000 npud:

- UJwlnuwjhG qppniyyh mpudwnpnmd’ pun wjwlnuwmnih gublynipjul - wGydwn,

SnlijnuwqmiwpGhph  Jwpnuip  wluwljwi

Swptiywl mnynuwnnpnijp
‘Utingpuyiwl dudytnm UUL nnjup Gypn
2 pund 00001 st |50 000 | O
/on/ uhGal uuy 50 |Gypn L|Popth
50 000 WUL| nnpup L 0006upn| wtigh
nnjwn wytih

w/ 30-hg - 90 op 5.30% 1.10% - 4.00%
p/ 91-hg -182 op 6.75% 2.10% 0.20% 5.00%
o/ 183hg -2740p | 7.50% 2.80% Wy suug 0.90% Eiqwmw 5.75%
275hd - 366 o 8.25% 3.50% wihG | 1.30% |6 009,

1/ 275hg n pu) ha
W 367hg - 5450p | 9:25% 4.30% 2.30% 6.50%
q/ 546hg - 7280p 9.75% 4.50% 2.50% 6.75%

- wmwnphG pGymGhny 365 on, Gwhw Gy mwpyw hwdwp 366 on

Suiptijul wnlynuwjhG GudnwptpmpiniG
wnnlnuwgmiwpltnh wluwlwl Jdwpiwmb nhujpni*

‘Ltipgpuyiwl dwiytin UUU nnpun Gypn
Jop/ npud | Gplsl 20000 1 dhlal 5 o0 | O

uvu 50 nnipth

50 000 UUL Gypn L

nnpup nmuup L [000GYp wb(h

wytith n

w/ 30-hg 90 op 5.43% 1.11% - - - 4.07%
p/91-hg 182 op 6.96% 2.12% - 0.20% - 5.12%
4/183hg - 274 op 7.76% 2.84% - 0.90% - 5.90%
1/ 275hg - 366 op 8.57% 3.56% - 1.31% - 6.17%
t/ 367-hg 545 op 9.65% 4.39% - 2.32% - 6.70%
q/546-hg 728 on 10.20% 4.59% - 2.53% - 6.96%

- mwnphG plnniGtny 365 op
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SnynuwgmiwpGtph Ydwpmip dwdltnh  Ytpomy
Swntwl mnynuwnpniyp
‘Uhingpuyiwl dudytn UUL nnpup Gynn
2 npud dhGsl 50 588%0 dhGsk | 50 000 | [+
/op/ 000 LU S 50 |Gypn L|Powph
nnjun wb(h 000GYpn | wytih

w/ 20-hg - 290p 3.00% - - -
p/ 30-hg - 90 on 5.50% 1.25% - 4.25%
q/91-hg -182 opn 7.00% 2.25% S 0.25% wwiw 5.25%
0/ 183hg -2740p | 8.00% 3.00% ulquwjpﬁ 1.00% |Gwgpuij| 6.00%
t/ 275hg - 366 on 8.75% 3.75% 1.50% ha 6.25%
q/367hg - 545 on 9.50% 4.50% 2.50% 6.75%
1/546hg - 7280n 10.0% 4.75% 2.75% 7.00%

- wmwnphG pGymGhny 365 on, Gwhwlo mwpyw hwdwp 366 on

SuwptijmbG mnynuwghl GudinwptpmpyniG
mnynumugmuiwpGtiph duniytimh Yepgnid YyswpdwG nhupnui**
‘Ltipgnuwyiwl dwdlytin UUU nnpun Gypn
/on/
S npu | ohasle 50 | 0000 puhlel )5, 650 0
Um; 50 nnlp]_h
000 LU Gypn L
nnqup L [000GYn witgh
nnjup wnfb(h o
w/ 20-hg - 29 on 3.04% - - - - -
1/ 30-hg - 90 op 5.62% 1.26% - - - 4.32%
a/91-hg -182 op 7.12% 2.26% - 025%| - | 532%
1/183hg - 274 on 8.08% 3.01% - 1.00% - 6.04%
b/ 275ng - 366 op 9.00% 3.75% - 1.5% - 6.25%
q/ 367hg - 545 op 9.77% 4.45% - 2.48% - 6.64%
L/ 546hg - 7280n 10.0% 4.64% - 2.71% - 6.77%

- nwnhG pGynGhny 365 op

*<& npuiny, UUL nnpupny, Gypnyny, 0% nnipinyg wjwlnlbph mnynuwgniiwplbph wivwywl Jdwpdwdp
wjuwlnGtph muwpbuwl nnynuwjhG tjudnwptpnipymGp hwyguwpyynd k<L jaGupnGuluwb puGlyh ynndihg
uwhiwlywo Jupgny GGhny htnlyw) pwlGwdlhg

APY =CA+r/n)" —1

npunbin’
1) APY —nwptjwl mnynuwjhl tjudmwptinpnp mGa t:
2) r — mwptjwl ywpq mnynuunpniypG k:
3) n — Ukl mwpjw pGpwgpnd mnynuwgniiwpltiph juyhunwjwgiwl hwiwhwywlnipjnGa k:



**2< npuwiny, UUL nnpupny, Gypnyny, - pnipiny wjwlnltph nnynuwgndwplph  Jdwpmin dwdytinh
Jtponid wjwlnbtinh mwnptwl nnynuwjhl Gludnwpbpnp jniln hwyqunpyynd £ htinlgw) pwGwalny

Kn

N
D>

n=1 Dn

(1+APY)365

npuntin’

1) A -wjwinh uyqpluyub gnuiwnG t:

2) n-wjwlnh nhdwg npuiwywl hnuptiph htppwywl hwdwnG t:

3) N - wjwlnh nhiwg ngnuiwlwl hnuptnh ytipghl hwiwn t (Ghpunjw; Gwb wjwlnh Gepgpiwl wwhhG
npuwiwlwl hnupp), nphg htivin wjwlnujhG ywjdwlwagqph dwdytnp hwdwpynmd L wjuwpunywo:

4) Kn - wjwlnh GepypdwG yuwhh6 WHwd wjwlnh gnpdnnnipjuw pGpugpnid Ghipgpdwo wyjwbnh W/wd
Jquuwhunwugywo nnynuugniiwnbtinh, wniuynipjub nhiypnid wuwpumwnhp ydwpltiph hnupbip:

5) Dn—wyjG phyG £, npp gmyg L wmwhu, pti pwGh op L wilighp wjwnh Ghipnpdw( ophg dhisk wjwinh nhiwg
Jwwuwnpynn htippwyw’ n-pn gpudwlwl hnuptipp Ghpwnjwy: U6 ghwypnd, Gpp wjwlnh Ghpgpdw b
wwhh@ t ngpwdwywa hnuptpp, D4 = 0:

6) UdJwlnh dwiytnmh hwdwn hhdp E plgniGymd Gipgpugiwl dwdytnh jmpupwysnip showlwjph
wnwytijwqnt)G wpdtipn:

«QFCUALARGBAL 961 SUCHARY  UNGU  UbPLNSLELR  LUUSUUUPR — SNUNUUANRIULLELL
UCJdUrgdNrU 5 OudUuvUaUyLy SNunuuarnr3Lekr LhUUL dJrAU: hUY SULELGUL SNUNUU3RL
GUUUSULGLARMIBAFG2 BNF38 F SULRY, 6 NLLRUL GUUUNES GUSULUBPL ANFRL, GG 961 UdU 2P
AhUUS8  USUS4dUb  Snunuuenrtuudrvtrr  J6ruucrarvehe aduovebh  SGULAY: SUrEGUL
SNuNUU3PL  FQUUSURGLARG3UL  UCHYULYUUL  QUrerr gdrnd GL aASULEL  <ESGY3UL
ELEGSPNLU3P UL GUBLART www.aeb.am »:

3. Qwpybgpywo wmnynuGtipp k6 juyhnwpugynd L Jdwupynmd 66 wjwlnuwumnihG wdhup dhy
wlquui juwd wjwlnujhl ywjdwlwagqph dwdiytnmh ybponid:

4. Snynultipp hwpwnpyynmd GG Gipnpuwo wjwlnh gnudwph dGugnpnh Yypw:

5. UJwlnujpG wwjdwlwqpny uvwhdwlwo dwdlytmbtphg mun wyjwlngp Juwd  dwup
JtpwnupdlGtin wjuwlnuunph ywhwGoh phypmd wjwlnh Juwd wjn dwuh wnynultpp
hwyJwnpynmu G0 pwllynmd gywhw6e wywlnltph hwiwp vwhdwljwo swihny, hul dhGsh wn
wuwhp thwunwgh hwpqupyjwo b Jdwpjwd mnynuugniiwnplbpp wwhynwd 66 ytpuwnupdynn
wywlnh gniiwnphg L mnynuGbpp hwpgunpymd GG dGwgnpnujhl gnidwnph ypw, Gph wy)p pwa
sh Gwjuwwmbuynid wjwlnujht yuwjdwlwgnny: Gpbh wjwlnp uwd ngpw dh dwup yuwhwloyty
G0 wwjdwlwgph Gpwpwaéquo dwdybnnd, wwyw Gwjunpny  dwdytnmp(Giph) hwdiwnp
Jdwnpynud GG wjwlnh yuwjiwlwagpny vwhiwlijwo mnynubtpp, huy wnyjuw) dwiytinmh hwdwnp
wywlnh juwd wyn dwuh ghiwg hwygwpyynid b Jdwpymd GG mnynuwgnidwnplbn pwGynid
guywhw (9 wywlnltph hwiwp wnyjw] ywhhl vwhdwlijwo swthny:

6. UJwlnh wwjdwlwqgph dwdiytimh wjwpnhg Jwd wwjpwlwgpny Gwjuwwmbujuo wjy
hwlquwiwlpltinn Gplwl quinig htimn, tpt wjwlnuunil sh ywhwlond Ydwnpt] wjwlnh
gnuiwnp, wyw ywjiwlwghpp tpupwaqyuo & hwiwpynid puwGynid guyuwhw( wywlnbtinh
hwiwn qnponn ywwjdwGGtpny, bpb wj; pw sh Gwppwwmbuynd wjwlnh wwjdwlwagpny:

6.1 UJwlnp 274 op L wybjh dwiybnnmd Jtpwnupdltine ywjpdwlng Ghpgpdtine jud wyn
duiytmhg ny wuwywu dwiybnny tpyuwpwdqytint nhyptpnd® UJwlnuumnG Jupnn k
wybjugltp UJwlnhG jpwgnighsy gnudwpltip dhwyG Ujwlnh yopunupddwl (bpupwaqyuo)
duiytmhl Gwpunpnnn hGsk 180-pn opp L GoipppiwG (Epupwdqiwb) wwhhG Udwlnh
gnuiwph dlwgnpmh swihhg ny wytih gnudwpny, nph ghiwg hw)dupymd GG wmnynultn
UJwlnh nhiwg hwywpyynn minynuGtph sgwthny b wwjdwbGtnpny: UJwlnp 274 ophg yuwjwu
duiytinnud yipunupd Gt ywjdwlnyg Gapgpytyne nhiypnd” UJwlnhG gnudwpbbp 66 upng
wybtjugyty, huy Giwl wyuwjdwbny tpupuwaqytint nphiypnmd’ gmiwpbbp upnn G0 wybugyty
vhwylG Gpywpwéquwl opp L ny wylp Udwlnh dlGwgnpn gqnuiwph  swthhg: Udwlnl
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wytjuglbnig htunn UJwlnh dwuh Junuwdwiybn Jipunupdiwl wywhwloh nphupnid
wnwelwhtinp Ytpwnupdymd G0 UJwlnhG wybjugquwo ytippohlG gqmuiwnpltpp, hul npulg
hwiwp wjwlnh uwjiwlwgpny vwhiwljwo guywhwl9 mnynuGbpp hwpunpyymd GG npulp
Uywlnhl wybjugytynmt hwonpn opjwlhg vhlskh Junudwiytnm Jyopwnupdltjnt Gwunpn opn:

Pw (Y6 hpwyniGp niGh thnthnfut] gywhwGe wjwlnltnh nhiwg ydwpynn mnynultinh swhn:

PwlyG wnGwql GptuGopyjw  wwppbpwlwlmpjudip  GippponnhG (wywGnuumnihG)
npwiwnpnd L hp wjwlnuihG hwpyh ytpwptpywp punjuop wyjwlnujhl wyuwjiwlwqgpny
vwhiwljwo tnulwyny, pwgwnmpjuip wjl nbwph, tpp hwpybnnt dwdwlwyuwypowlinid
ndjup hwphyp sh ghpbnwgpdly juwd Ypenhunwgpdty, pwgh wyn wjwlnuunmh Ynndhg
wwhw(9 Gtpyuwjyugibnt nhiypnmd S-opjw dwilmnmyd mpwiwnnt] hwyyh pwnywop pwiyh

hwjnwpwpwo Uwuqltpny:
<< npud
Snynuwgmiwpp wivwuwl Jdwpiwb nhiuypmy
60 on dwiljtinny 120 on duniljtinny 210 opn duniljtunny 300 op dwniytinny | 370 op dunijtinny | 600 op dunlytinm]
muwntijub 5.3% mwptiluG 6.75% mwptiyub 7.5% mwnkiui 8.25% nupblwt 9.25% | wmwptywa 9.75%
nnlnuwnnnt)p wnlnuwnpntp wnlnuwnpnip mnjnuwnpnjp wnynuwnnnip nnlnuwmnnnip
= = = = = =
S| 55 | Bg| 28 | 85| 28 | 85| 55 | 25 | 25 |2Eg |ES
=2| 32| B3| 52 | E2 | 25 | E3 | E=2 | E3 | 93 |Et |3:
= § 5 = § g = § 5 = § g = 5§ |3 § &
500,000 3,855 500,000 9,903] 500,000, 19,325 500,000 30,412 500,000 42,081{500,000 43,849
Snynuwgmiwpp dwdlytimh Yytipeniud ydwpdwb ntwypnid
600 on
210 op 300 op
25 op dunijtinny | 60 on dunijtinny | 120 op dunijtnny dwiytnny dwdlytnny 370 on dwiljtinny dwnijtinny
muwntwa 3.0% | wnwpklwb 5.5% muptijub 7% o o, | mwplywb 9.5% | wwpbiwb 10%
wmnlyjnuwnpnip nnynuwnpnijp mnynuwnnpnyp wnwnbliwl 8% - Jnwnbjwl 8.75% unnynuwpnip mnlnus 1,
wmnynuwunmyp | mnlnuwnpntjp LUTILR
e =y =y B = =y =
£ (58| 8g| 58 |5g| 22 | 59|58 | 59|52 Bg| 2 |se |2s
2| 95|55 SE | 55| SE | B2 | 35| 55| 55| E5 | 2E |24 |2
o 3 S‘:' =38 S‘:' 3 S‘:' o3 S‘: =3 Sﬁ = 3 S‘: E._—_,- U’g.,
=] 5 s 1= 5 s =) 5 s =) 5 s 1= 5 s =] 5 s g 3 g g
=]
500,000 888] 500,000 4,001} 500,000] 10,270f 500,000 20,614] 500,000] 32,255 500,000 43,218 500.000] 73,849




UUL nonjup (WhGsk 50 000 UUL nojup)

Snynuwgmuiwnp wduwlwl ydwpdw b nhiwypnd

60 on duniytnny | 120 op duniytnny | 210 op dwiyimny | 300 op dwilbwny | 370 op dwilbkuny dufl(i)oh?iln 1
mwphiywa 1.10% | wwntlwb 2.10% | mwuptkijw 2.80% | wwpbywa 3.50% | wmwnpbijwG 4.30% ltlluphllllilﬁ 4.50%
mnijnuwnpniyp wmnynuwnnnijp wmnjnuwnpnijp wmninuwnpnijp wmninuwnpnijp .

B e B = B = = = B
Eg| S8 | 55 |58 | Eg | 58| Es | 28 | 55| 28 | Eg| 58
22| 55| B2 | 52| E2 | 2E | B2 | %E 22 | 32| B2 | BE
83 ga‘ = 3 gg = 3 gg a3 gg = 3 g'g 8 3 g'g
= g =] =) 5 =] =) 5 =] =) = =] =) g =] =) g =]
2,000 3.20 2,000 12.32 2,000 28.86 2,000 51.61 2,000 78.25] 2,000} 132.93
Snynuwgmiwpp dwdltimh Yytipgnid Jewpdw b nhwypnid
60 op duniytinm| | 120 op dwiltinny | 210 op dwniytinny | 300 on dwitinny |370 op dwiytnny| 600 op duniytinm]
mwntjul 1.25%| mwpblwb 2.25% | wwpbiywb 3.00% | nwptwi 3.75% | mwptjui 4.50% | mwptiyw6 4.75%
wmnlyjnuunpnijp wmnljjnuunpnijp mnlinuwunpnijp mnljnuunnpnijp nnynuwnnntjp mnynuwnpnijp
B e g o B = = e g =
g |25| 89| 25| 29 | 26| 29 |25 | Eg| 26| 29 | £8
52|55 E2 | 55| E2 [ 35| 55 | 35| E2| 55| E2 | &
=3 g =] 53 g =] = 3 g =l = 3 g = = 3 g =] = 3 g =]
=) = s =) 5 s =) g = =) 5 = =] 5 = =) g s
2,000 3.64 2,000 13.20f 2,000 30.92 2,000 5529 2,000] 81.89 2,000] 140.31
Gynn
Snynuwgmuiwnp wiuwlwl ydwpdw b nhiypnd
120 op dwdljtnn]| 210 op duniytnny 300 on duniyjtnny 370 on duniyjtinny 600 on duniyjtunny
wnwntjub 0.2% muwplijub 0.9% mwntjwd 1.3% mwntijwd 2.3% mwnbjwd 2.5%
mnynuwnpnijp mnynuwnpniyp mnynuwnpnijp mnynuwnpnijp mnynuwinpnip
= = = B = =
Eg| EE| 55 | 28 | 25 | 28 | E¢ | 58 | 55 | =&
2| B& 3 EY 3 EX 3 > & 3 EX
= 8= = 8 = = 8 = = 3 = = g =
3| g8 g B3 g8 g B3 g g g 3 g 8 g B g8
5 5 5 2 5
1,000 0.59 1,000 4.64 1,000y 9.58 1,000, 20.93 1,000, 36.92




Snjnuwgmuiwnpp dwdytinp yepemu Jdwpdwb nhiwpnid

120 on dunitinnny 210 op dwiltunny 300 on duniytnny 370 op duniybunny 600 on duniytunny
wnwpkjub 0.25% wnwpkijua 1.00% wnwpkud 1.50% nwpkiyjwa 2.50% wmwpljud 2.75%
mnlnuwnnnijp mnljnumnpniyp mnlnuwnnnijp unljnuwnpntjp mnljnuwnnnijp
B e & e = & = =
Es| 2§ | f5| 25 | 55| 3§ | 85| 28 | 55| =4
52 | 32 | B2 | BE | E2 | 22 | B2 | %E | B2 | FE
g% | 58 | €° | 58 | €% | g8 [27 | 58 | €7 | :E
5 5 5 =5 5
1,000 0.73 1,000, 5.15 1,000, 11.06, 1,000, 22.75 1,000 40.62
[} nmpih
Sninuwgniwnpp wivwywl ydwnpdwl nbiypnid
60 on dwniytinny | 120 op dwiytnny | 210 op duniytunny | 300 op duniytunny |370 op dwdltiny | 600 on dwiljtinny
mwplijwi 4.0% | wwpbljwb 5.0% | wwpbliwd 5.75% mwptijuG 6.0% | mwptlwd 6.5% | nmwptlwd 6.75%
wnjnuwnnntjp wmnljjnuunpnijp mnlinuunpnijp mnljnuunnpnijp wnynuwnnntjp mnynuwnpnijp
= g £ o e ==
Eg |58| s | 58| E5 | 55| E5 | 58| 55| 28| £ | 28
EB & & EB > & EB &8 EB S & ga Y= ga 5 g
|55 E5 | 55| 25 | 22| B3 | S| B3| 55| B3| 2=
= 55| = 5 g = 5 5 = 55 | 3 58 = 58
100,000 582 100,000 1,467} 100,000 2,963] 100,000 4,424] 100,000 5,914 100,000 9,970
Snynuwgmuiwnpp dwiytinp Yypemu Jodwpdwb nhiypnid
60 on duniytnny | 120 op dwiytnny | 210 op dwdljtanny | 300 on duniljtunny |370 op dwiljiwn]| 600 on duniytinny
muptijuwi 4.25%| muptjwi 5.25% | wwptljw 6.0% mwphjui 6.25% | mwptlwa 6.75% | wmwptljub 7.0%
mnlnuunpniyp wnnlnuunpniyp wmnjnuwnpnijp wmnljnuwnpnijp wmnlnuunpnip wmnljnuunpnip
e g S e g e = ==
Eg|55| 85 | 55| B |55 | §5 | 25| 85| 55| 85 | 58
Eg, & &a gg X gg &8 gg. S & gé‘ Y= gé‘ 5 g
5| 85| &8 | 25| &8 | 85| §8 | 2€ | 58| 25| 58 | 2%
= 55| = § g = 5 5 = 55 | 3 58 = 58
100,000 618 100,000 1,540f 100,000 3,092 100,000 4,608 100,000 6,142} 100,000] 10,339

*

JSwndwb opdub Guiunpnnn opp << wpdnipuyhG pnijuwynid dLwynpdwd wpmwndnyph dhohl thnfuwpdtpny

- wjuinquunnith guulnipjut ghypnid wpmwpdnypny wpnmwhwjmywd wnnynuGbpp Jdwpgmd GG <4 nnuiny wnynulbph

- LupqunyGpnd mwphG plnniGyty £ 365 op, pln npnid mnynuwgniiwpltipp hwpupyywo ta
hwyh wnwo tjudnwhwplyp:

9. Uy wldwlg

Ynnihg

wyjwlnuwnth  wjwlnp

oquwgnpobint

Juu

wmGophGhynt

lhwgnpmpyniGGtpn plnniGymd 66, tpt jhwgnpmpyniGp wmipdt) £ Gnunwpny Juytpuguo

lhwgnpugpny  Jwd  pwlymd  wlGbdwdp wyjwlnuunp Ynnihg

pwayh

wfuwmnwygh

Gtpyuwynipjuwdp L hwunmwunndnyg duwyipyywo L unnpuqpjuo’ gpuynp thwgnpugpny:

10. Mwjiwlwqgnhg pfunn ytdtiph wnwowgiwl ntypmd wjwlnwwmnilG gpuynp nhind L pwGyhG
L 10 wphuwwmwlpwjhG opjw plpwgpni wyjwlnuunihG wmpynud L ghdnudh Jtpuwpbpyug
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wuwunwufuwl: Muunwufuwlh httm hwdwdw)G shGmnt nhiypmd wjwlnuunniG hpwyniGp nilGh
nhity nuuwpwl jwd phGwluwyul hwiwlwpgh hw)wmwpwphG optilipny uvwhdwGuo
Yungny:

11. UJwlnh GopgpiwG GJuqugnyyG uyqplulul gmiwph vwhdiwGuhwynd sjuw, hul ydwnpynn
wunynuGtipp tipwlw GG hwpyiwl «GHuwinmwhwnpyh dwuhG» << optlpny vwhdwGjwd swthny:

12. UJwlnp Gapgpynud £ GJuqugniyGp 20 L wowytjugnyyln 728 op dwijtnny:

13. UJwlnGtpp tpwfuwynpynud GG «bhghuyuwl widwlg pwiiuihl wywlnltph hwnnigniip
tpw)uwynpbnt dwuhl» << optiliph hwdwdwyG.

- dhwyl << gpuiny pwlwjhG wjwlnGtph nhypnd tpuwuwynpuwo wjwlnh swihp

wmwup UhihnG hwjjulw6 npwad k,
- Uvhwyl wpunwpdmpuwjhl pwlyuwjhG wywlnlbph nhypmd Gpuwuwynpjwo wywlnh
swthp hhGq WphthnG hwjjwlw npuad t,

- X< npuiny L wpmwnpdnypny pwGluyhlG wjwbnltph nhwypnud, bpt npudwghl puwGyught
wywlnp ko t hhGg dpthnG hwjjuyuwl npuihg, wyw tpuwfuwynpymd E dhw)G
nnuwiwjhl pwluwihG wjwlnp dhGsh mwup dhihnt hwyjujwb ngpuwdinyg,

- X< npuiny b wpmwpdnypny pwGluyhlG wjwbnltph nhypnud, tpt npudwjhG puGyughG
wywlnp ywyuwu £ hhlGq dhihnG hwjjulwb npwihg, wyw Gpupuwynpynd L gpudwjhG
pwllwjhl wjwlnl wipnnonipjuip L wpnmwpdnipwjhl pwGluwjhG wywlnp hhGq dhihnG
nnuwuih b hwnnigwo ngpudwjhb pwblwiht wjwlnh mwpptipnipjwb swhny:



